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Possible answers 
 
Match the answers to the scenarios in the worksheet. 
 

A. The sample has only children of that school and will not include adults without school age 
children. 
 

B. There are likely to be different eating habits between the groups suggested.  
 

C. The sample only includes those with a telephone, who are in the directory and also there 
will be more than one person for most telephone numbers.  

 
D. The sample only includes the readership of that paper and only those who respond.  

 

Matches 

Data 1 matches to answer D. 

Data 2 matches to answer A. 

Data 3 matches to answer C. 

Data 4 matches to answer B. 


